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Unit 6 Test - REVIEW

Complete. Round to the nearest tenth

if necessary.
1 138mi=___ km
2 280c=__ pt
s 6T=__1b
4 91ga=__ L

Use the pythagorean theorem to find
the missing side length.

B C
m_ABC = 90°
AB=182in
BC=09.1in

m_ABC = 90°

AB=46in
AC=6.9in



Name:

Find the missing angle.

Find the missing angle in the quadrilateral
If the first angle equals 76°, second equals
88°, and the third angle equals 96°.

/1 and £2 are complementary.
m/1 = 65°

msz2= ?°

/1 and /2 arevertical angles.
m/1 = 34°

msz2= ?°
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11

12

/1 and £2 are supplementary.
ms1=72°

msZ2= _7?°

Find the missing anglein the triangle if
one angle equals 54° and another angle
equals 105°.

/1 and £2 are supplementary.
ms1=73°

ms2= ?°
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22.2
140
12000

34.4
20.3
5.1
100
25
34
108
21
107



